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YU €35 WALl 8L AL .
Instruction :  All questions carry equal marks.

1. Al ot wdl <l W1l dur-qauaAl 50 5 At A0 G EUL & uLA ais 5]

51280 9 2013-14 2 A8l 521 - 14
2UA5-NA5 Wig dl. 31-03-20130 A¥ YL adl al W2 il
LS L 1 Mnas ] L4 |
“usl IV AL | 40,000 | eifeuea ML QI 90,000 |
(%291 $1 3.40,000 | ¥ st A543 - 15.000
[al»z 4 82,000 | AQsa HAAAIAL el 10,000
awe @ wuas | 1,20,000 | dlagell we 80,000
el daet 20,000 Puessa WAl W (1-9-12) | 2.00,000 |
w4 [3[as-s 15,000 |agl2221d] wal 24000 |
SR YT MY MY 10.000 | el wRlel 172000 |
ALl 441 1.30.000 | 22131l Y= 2.00.000
A% 54 WUl duRL 25.000 | BuL 20,000
W51 eustl Has 18,000 | oidl w1 @t AL 15.000 |
e¢lail waldl ole 26.000
8.26,000 8.26.000
qiAdl wulsd : |
(1) /4 s vl aldid el dq W2 9. MRS W HAUWA HUIRL
¢ 15,000 O.

(2) sl A3vrdl 215 A vl RUs w464 40,000 i 18,000 0.

3) udsa wd-ddl a3vuddl urene [b4d 75,000 edl. Mgz 524 HARL ER
20% 9.
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From the following, compute taxable income of Dr. Samir under the head of profit &
gains of business and profession for the assessment year 2013-14

Recelpt and Payment A/c as year ending on 31-03-2013

Additional Information :

 Recelpts __P___f__%“_ - Payments X
ToBalance bid 40,000 | By Hospital Rent 90,000
To Consulting fees 3.40,000 | By Advance Income Tax 15,000
To Visiting fees 82,000 | By Purchase of Medical Magazines 10,000
To Operation theatre income | 1,20,000 | By Electric charges 80,000
To Sale of shares 20,000 | By Purchase of Surgical |
To Dividend received 15.000 equipments (1-9-12) 2,00,000
To Interest received on By Motor car expenses [ 24,000

investments 10,000 | By Purchase of Medicine 1,72,000
To Sale of medicines 130,000 | By Staff salaries 1 2,00,000
To Sale of surgical By Drawings 20,000

equipments 25,000 | By Balance ¢/d 15,000
To Income from house rent 18.000
To Gift from patients 26,000

8,26,000 8,26,000

(1) 1/4™ use of motor car is for personal purpose. The admissible depreciation on

motor car is T 15,000.

(2) The opening and closing stock of medigine are ¥ 40,000 and ¥ 18,000 respectively.

(3) The opening balance of surgical equipment after depreciation were ¥ 75,000.
Allowable depreciation is at 20%,

AYWOR
(A) Al Aud dl 31 ¥ 2l 20134020 Y421 wdl a¥ i d- a0 DA suledl

ydlwd © :

A6L-45 Mig dl 31-3-2013-0 ¥ YRI At adl

e ee—

L leoa | T (2314
LA WaUR 72,000 | 51| 5]

ols @l Y oy 14,000 | 325131 21207 w3
URYE)| 10,000 | ayjor

YR ey 4,000 | »uasd 53
AL 6,000
Poud, 2431, 1l 23,000

qdlad] way 41,000

ICEEE)| 15,000

23 wilgl

(1-1-2013) 24,000

UGUY WM 4,000

CTICAL T 2,000

AlRe 4 - 5,000

vl 14l 50,000

N 2,70000 |
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w4y Mlsdl :

(1) C[}‘-ll MG AL 25330 23,000 @aAdla e 2 udal 9.
(2) syl WHlEl W2 10% 4Rl 21l .

Alewsly a 2012-13 A2 dadl sawa 2uasdl 2wl sql.

g?:l J;‘;ljuilnf;l;r?isms the following details for his business for the year ended

Profit & Loss A/c for the year ended 31-3-2013

r—-—-

b i B —

Receipts L Payments 4

To Office Salary 72.000 | By Gross profit | "z.lm',lnui

To Interest paid on bank loan| 14,000 | By Interest on Governiment

To Depreciation 10,000 Securities | 3,000

To Interest on capital 4,000 | By Income tax refund 9,000

To Donation 6,000

To Rent-tax-insurance 23,000

To Administrative expenses 41,000

To Income tax 15,000

To Purchase of computer

(1-1-2013) 24,000

To Bad debts reserve 4,000

To Bad debts 2,000

To Audit fees | 5,000

To Net profit 50,000 T
) £ ;J_ﬂ,m 1 2,70,000

Other information:

(1) Insurance premium includes ¥ 3,000 for Life Insurance Premium.

(2) Calculate 10% depreciation on purchase of computer.
Calculate the taxable income of business for the financial year 2012-13.

Da-aidll siduet o AL GuRl auil : 4

(1), &l uudl Rodl wRell zusiell @ 2013-14 e W HAQUWA 4
gzt el 52U

4
(A) w-e-d4al-l 1-4-2012-U Aol wauriene (ud 4,00,000
(B) dl 1-2-2013-1 Slay wIlid dl w-2-4oll 60,000
(C) 31-12-2012 -t A% %L o QA (Bl W AR ER
20%) 1.10,000

(D) ‘etr2 i wall4dl W wuRLl € 20% 9.

s gL vl wasdt-l Horaduil weudl.

>
3 Qe waviy aydid-l siasdL-l

(3) wub YR s wd R -ile W

v axnal.
o 3 P.T.O.
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Write any two answers from the following :

(1) Calculate the total depreciation admissible for the assessment year 2013-14
from the following particulars.

L4
(A) The written down value of Plant-Machinery as on 1-4-2012.  4,00,000
(B) New Plant & Machinery is purchased on 1-2-2013. 60,000
(C) On 31-12-2012 an old machinery was sold (depreciation on
it's at 20%) for 1,10,000

(D) The rate of depreciation on Plant & Machinery at 20%
(2) State the provisions of Income-Tax regarding unabsorbed depreciation.

(3) Explain the provisions of Income-Tax relating to recovery of bad debts
allowed and not allowed in earlier previous year.

SLOVSL Olril MUY MHISL AU UL 3
(1 Al &l dadl wuas A e JeaML 9 5 Al d el
(A) AL SISl SALSl BUED SHERA 1ld wsdUd Med Ysdd
QAR
(B) qauaidl ysaa uelld cilRuea (qa
() = MR- Sl sl sl
(2)  dar-oqadd suie s dARidl aud suid dily elte 4 4adl slHuel A8l
WAL AML
3y matl dadl vz w0l sierl Aeasel weual.

Give any two answers as directed.
(1)  State, whether the following expenses are admissible or not against business
income.
(A) Paid compensation to an employee for accident during the working
hours ofservice.
(B) Paid wife's hespital bills from the business.

(C) Owner’s connib?iﬁnn for recognized Provident Fund.
(2) Wnte any three eXpenses which are not allowed as deduction while

ca_l I . g taxablﬁ income Gf the business perESSiﬂn-

- : arding loss on speculation business.
sions of the ActI€g
(3) State the provi 4
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2.
(A) sl sqogl 3 2y [l 2ol wusize) o 2013-14 12 el 3-8

HUAL €80 534 vuqs) AT 53| :
7

| &fel Al 1-8-2012-1 % dnl vivig gy LR USI T 26.20,000 ¥
Q%{-g :iq,, ?rt-l eaudl w1 7 20,000 ASAUL ddl. 2L US4 1978-79%) !-1“5-0‘000 1l
ule] sg. ¥ Ml quell Gd 1-4-1981%0 2 2.00.000 edl. B [‘n‘qul Al
WA 1 Rl 81 sgi o sd. Al 2007-084i AxEl 7 1,10,200 ;11 QULR1AL

ULSPAL Wl sql well. AL 311220120 3\ RWSRAL &g W2 A Hsi
¥ 8,50,000 i vl e,

AR0WRIA dl. 1-9-2010 ui 7 25280 i wiled s AN AL
A 31-12-2013L A% T 2,50,0004i 3l AL A ¥ wiw Wole 2 s3aiad)
¥2,00,000 dud 199 2008 vils SFsu-u 3 avlu ofl=s 4 2141 Al

lernat 34 sl sRiadl widHl Aoifud 3 suiis A wel © -

al  Yaswlis ay YA5AIS
1981-82 100 2009-10 632
2007-08 551 2012-13 852

From the following particulars of Shri Bablu. Calculate the taxable inome under the
heading of ‘Capital gains’ for the assessment year 2013-14.

He sold his own residential house for ¥ 26.20,000 on 1-8-2012 and paid
¥ 20,000 for brokerage expenses. This house was purchased for 2 1.50.000 in
1978-79. The fair value of this house on 1-4-1981 was T 2.00,000. He has no
another residential house except this. He has made additional construction cost of

< 1,10,200 in the year 2007-08. On 31-12-2012, he has purchased new residential
house for ¥ 8,50,000.
On above, on 31-12-2013 the government securities were sold at ¥ 2,50,000,

which was purchased at ¥ 25,280 on 1-9-2010. Out of received amount, ¥ 2,00,000
was invested in three years bonds of National Highway Authority of India in that

date.
The related Index Numbers for the calculation of Long term capital gains are as
under :
Year  Index No. Year Index No.
1981-82 100 2009-10 632
2007-08 531 2012-13 852
Maa/OR
S P.T.O.
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(A) Al sl weell sl WGsa-d usudla ad 2012-13 e
AL s dan qdl s puasdl 2.l s

(1) ouRdla byl 10% g2 A2 w2 qda Rlas-s

(2)  ofsedl ol Heddl wuel wR Hid ALY

(3) 7% U2y Sdzeyr2 ollrs YR HY

(4)  YeL eguid wddl eustdl 2uds

(5)  Ylselsl oig wlvell 24 (T.D.S. 30%)

6) [zl syl 921 ur #dd [3[as-s

(7)  10% 1 A1 RBL2sL 5235 RAUR W 14 ¥
(TDS 10%)

8) ulas Wiz 53 vididi ™ 9dd HY

(9)  3id sl d-at

(10) Y[z 222 w5 Ssu-t ylexidll qoa (3as-s

onadly Syl 221 vdlear e dlda os dd ¥ 26,500 A% Ysdd e, A%

GaAdl Hle T 450 ofs sBLa--L Y5l el

From the following information of Shri Mohit, Compute taxable income under the

head of “Income from other sources” for the financial year 2012-13.

» . - ot 1

(1) Dividend received on 10% Preference Shares on Indian

Companies
(2) Interest received on fixed deposit at Bank
(3) Interest on 7% Capital Investment Bond
(4) Income of rent from sub-tenant
(5) _Net income received on horse-race (T.D.S. 30%)
(6) Dividend received on shares of foreign companies

(7)  Interest received on 10% tax free debentures of Rima Ltd.
(TDS 10%)

(8). Interest credited in Public Provident Fund account.
(9) Received family pension
(10) Dividend received 0‘ the units of Unit Trust of India

He has paid interest of ¥ 6,500 oh-bank loan taken for purchasing shares of Indian

“3.!-[""1 alﬂﬂl’ﬁ :U'llcl!s"

20,000
8,600
6,000

12,000

1,40,000
8,400

27,000

5,400
90,000
2,000

3

20,000
8,600
6,000

12,000

1,40,000

8,400

27,000
5,400
90,000
2.000

companies. Bank Commission of ¥ 450 was paid for the collection of interest.

T ] wil G S
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(B)

©

sISYRL o1 Bl @w) 4

(D B sl aY 2004-05 2l 600 Skadl 9z e35 ¢ 120 AL ol w{len
Sl dell 2008-09-1 a¥ efquirt 2 9286 1 AL MlREL waseil 912 2 291 -
oid A€l WHlEL dl. 31-12-2012-1 2% U 4L % S31 68 T 340 L
oud Al €lul Gur-L a3l Rsld aedbsadd wA Al sad)
T 6,000 Ysdd .

JASVULS :© 2004-05 - 480, 2008-09 — 582 i+l 2012-13 - 852.
S3UA Y4l A5l 2] 53l

() AAumiel 565 2uas] “vin WHA 2ULs” S80S9 A8UY ©

(A) Vel PRAL USRI ydd 2uas T 50,000.
(B) Syl Awas dly yoy (3523l 41 T 10,000,

(C) 23 Al welFBie wz aur T 7,000.
(3) W3 Y-l (Grossing up) ¥4 axal.

Write any two answers :

(1) Miss Kavya had purchased 600 equity shares of ¥ 120 each during the year
2004-05. During the year 2008-09, she has purchased right shares on the basis
of 1 share against 2 shares held at ¥ 291 per share. On 31-12-2012, all these
shares were sold at ¥ 340 per share. All the above shares are not taxable under

securities transactions tax. Brokerage.is paid ¥ 6,000. The Index Numbers
2004-05 - 480, 2008-09 - 582 and 2012413 - 852.

Compute taxable capital profit.
(2) Which of the following income is taxable under the heading of “Income from

other sources”.
(A) Received income from unexplained investments ¥ 50,000.

(B) Director fées received as a director of a company ¥ 10,000.
(C) Interest on Treasury Savings Certificates X 7,000.

(3) Explainthe meaning of ‘Grossing up’.

QaAAetiell 5t At gsul e 2l : )

(1) aicnauainl 35l »led g ?
2y Ayel g2 Arsidl Al A9 Gels2el uul.
@) 34 vl 1l wa v A 2f] ol w19l wuasdridl Aarudil gual.

Give any two answers in short of the following :
(1) What is meant by Long term Capital gain ?
(2) Give three illustrations of fully exempted (tax free) Government Securities.

(3) State the provisions of Income Tax relating to set-off and carry forward for

capital loss.
P.T.O.

...............



3.

(A) wusan 2 2012-13 5abiu b awdl Ad-i sl sl

]l swA-fl 2% 5dl 531 Aanl ga A was T5.70.000 9.

ddl. 54 80C Lo

4
(1) 4 WAz £eni sl et sl 24,000
(2)  SBI 2& AR5y 24 3110l 12,000
(3) e Ulas-z a4 s 25,000
(4) Aa-d ARH 12EL2 (9l selxi) 2AUsiel 20,000
(5) oz wils oziamill d9dl eGBor dAdl W WRd 36,000
(X 6.000 241% #[eA)
(6) ulze »ilBA AR o5 viini yba Bulfle-dl 53 10,000
(7)  sunst b Wl ysda 54 15,000
8) Azt suasiAl 2y 4l Ysdd (35 suaséls T 10,000 ). 30,000

Mr. Rajesh has made the following investments during the previous e 2012-13,
Determine the deduction available Under Section 80C. His total gross income g

< 5.70.000).

(1)
(2)
(3)
(4)

(5)

(6)
(7)
(8)

A5

(1)
(2)
(3)
(3)
(5)

(6)
(7)

7 )

3

Employvee s own contribution to recognized Provident Fund. 24,000
Investment in SBI Tax Saving Scheme 12,000
Contribution to Public Provident Fund 25.000
[nvestment in Nauonal Savings Ceruficate (9™ Series) 20,000
Repayvment of housing loan taken from Bank of Baroda 36.000
(including intergst of T 6.000)

Deposited in Post Office Savings Bank account 10,000
Paid insurance premium on children Life Insurance Policy 15.000
Paid tuiuon fees for three children (T 10,000 per child) 30,000

“A72/OR
3. (A) Al Gl Al U] sledl wedl 2usell af 2013-14 32 du-l ‘ga 2w
54| 521 :
L4
9% %2471 MM ya oy 7,000
qiel 53UA 5L 2,55,000
#2i-L dudl wie 12,000
Zsiauaul %4l uie 15,000
ool 53 481 20,000
qorui uldil aulasl-u ysi-l 295 26,000
austas i Al bl gl vl 6.000
25,000

7C-121
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From the following given

Mr. Mitesh for the asse - Ay, lermine total taxable income  of

ssment year 2013-14.

(1) Interest on 9% Government Securities :000
(2)  Taxable Profit from business 2 55:000
(3) Losson Speculation business 12,000
(4)  Short term capital Joss ' 15,000
(5) Long term taxable capital gains 20,000
(6) Income from own’s ownership house at Mumbai 26,000
(7) Loss on his own's ownership flat at Ahmedabad. 6,000
(8) Donation to Prime Minister National Relief Fund 25,000
(B) sldust oAl Grizl 4wl - | | 4

(©)

s d & A

(1) dolloll dla iyl suid viol say 80-D Al arudxl aeual.

(2) it Masa-dl »uas dlds dsadl vile 1l waar 24 2w Wl way
Aoidl vuasazi-l sedl 59 Aaud@l 9 2

(3) 2Uwa Yl iﬁfﬂa Aoy WM dadl s (sad 80 CCG) Wl
AU HHMAl.

Write any two answers :

(1) State the provisions of Section 80-D regarding deduction for Medical
Insurance premium.

(2) Which are the provisions of Income-Tax regarding set-off and carry forward
of loss under the heading of “Income from House property” ?

(3) Explain the deduction relating to investment under the scheme of Rajiv
Gandhi Equity Savings Scheme. ( Explain under Section 80 CCG)

AL 2i0) 2dsdn el Aol arual ; (stdust o) 3
(1) 44480 RRB ds4 U2-2a w2 yadl Auedl 3l swd.

@) G viow vl dldd @l W Ysdd Ay sax 80E dou

(3) bes aesiR-Al Ueiet 2403 2uld s 29l swd se 80 CCD.

State the provisions of Income-tax act regarding following : (any two)
(1) Royalty received on Patent’s section 80 RRB.

(2) Payment of Interest on Loan taken for Higher Education Section 80 E.
Government Pension Scheme Section 80 CCD.

P.T.O.

(3) Contribution given in Central
9



4. (A) yrnd yeuald dz wffFus 2003 wael -l eyl yxeadl @ (i d o) 7
(1) 4l
(2) dwdl
(3) M4
Explain following definition under Gujarat Value Added Tax Act 2003 (any two)
(1) Business

(2) Dealer
(3) Goods
. »19al/OR
4. (A) DAl slSuat sl ws vuul 7

(1) 2od yeald Wzt dsa 2a 32 -l v axenal.
(2)  3-dly dueidzidl AEisail Feual.

Give answer of any one from the following :

(1) Explain the concept of Tax-credit under the head of Gujarat Value Added Tax
Act.

(2) State the characteristics of Central Sales Tax.

(B) sl8uel G-l Falell 4vil : 4
(1) ul 2amiel s33Bd-dl ulewitarual.
2) AEA 281 520 o-Uud wyaal.
3) wldn 2al sidardl gl aslal.

Write any two answers :

(1) State the tax free limit from the Service tax.
(2) Explain the taxable event of service tax.

(3) .~ Describe in short the procedure of service tax.

(Cyn 1A UHIBL G2 Ul ¢ (SlOURL o)
) dldu 2a awry usdl ety ddl a2 Al eual.
@ yealid 4w wenal
3) yeualld 2l a1 widl elu Aai syl et Gelerall 2wl

Give answer as directed (any two)
(1) State any three services on which service tax are levied.

(2) Explain the meaning of Value Added Tax.
(3) Give any three [Justrations on which Value Added Tax (VAT) are not levied.
7.C-121 10
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uesti 1S gi
b-questions, more than One answer 1s given. Select the correct

answer. '
Show the necessary calculation or explanation.

l ld-lq. | W5 Hy o &6“‘. -[I-'ll %‘ELLQ& "'I."*"l.[bl]_ ‘lﬂ 51

(A) wavy

(B) AWML 3

(C) dai-l 2els iy By
(D) duel 43\

Out of the following expenses, which expense is not admissible under the head of
"business or profession income.

(A) Bad debts
(B) General Reserve

(C) Insurance premium of business stock

(D) Sales tax

(2) Hq4l ¥ qqAiu-dl suasdl saon s DAl syl vl R waaue § 2

(A) $dR1l AU
(B) uul 42l
(C) Al

(D) Aariy 4Rl
Which of the following expense is admissible under the head of ‘Business or

Profession Income’.

(A) Provision for Income tax
(B) Wealth tax

(C) Capital expense

(D) Professional tax -

LZc121 »
<
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(4)

(5)

Bietsd-l dal 3 sqauudy dq w2 180 Rad sl il Ay W2 Guilal udl
el dl qauRl

(A) YRYRU v Y 12 yord wd| 6.
(B) [Hud £3-1 50% W 34 6.

() [Hud e 75% w3 w4 9.
(D) % Al 2.

If the asset is utilized less than 180 days for the purpose of Business or profession,
the depreciation is
(A) Allowed fully for the whole year.

(B) Allowed at 50% the prescribed rate.
(C) Allowed at 75% the prescribed rate.

(D) Not allowed.

A uda [Qu-l U4 sy ([@uq w3 o 2

(A) diewruouAl 34 vile gsrua- 3 st s HUAl i 20d ©.
(B) &struvul 34l wle dletduoul 3 st 1Ll aumani 20d .
(C) idtd aurta-dl Hl2esiR el 3l Brasd awami 2ud .

(D) HauAl wadld 34 Basd aetuni siadl 9.

Which of the following statement is correct ?

(A) Long term capital loss can be set-off against short term capital gain.
(B) Short term capital loss can be set off against long term capital profit.
(C) Motor car for personal use is considered as capital asset.

(D) Goodwill of business is not considered as capital asset.

NAiel 568 Bresadl 3-Basd ddld wuda adl 1ol ?

(A) Wil Rls
(B) wuell ual-¢5
© shluge

D) -l g5

Out of the following,
(A) Stock of goods
(B) Lease hold rights
(C) Copy right

(D) Right of Tenancy

which asset is not included as capital asset ]



(6) B X 3 di 31-10-2012 UL RA¥ T 9,00.0004 AL B0 d2u1 2y g1l
;u. 30-6-1988-L A¥ T 64,400 ?-li WElel gdl. w0 Qued) Guardidl dxsl
L. 28-2-2013-U 1% T 6,00,000ui WsRl] Usi wilde @, qudl wa 2848181

qe Wl M4 ssiy o). 18U 4 ;
Mo 161501 283 W54 Y 1988-89 i 2012-13 y3-) YALLS

wsellay 2013-14 W2 s2um Y45 3 3oL dengl
(A) T 1,86,400

(B) ¥5,59,200

(C) %6,00,000

(D) Guanidl sl s

On 31-10-2012 Mr. X sold Gold omaments for ¥ 9.00.000. The cost of this
ornaments were I 64,400 as on 30-6-1988. From amount of this selling, on
28-2-2013, he purchased residential house for ¥ 6,00,000..He has no own
residential house. The cost inflation Index No. for the finanéial year 1988-89 and
2012-13 are 161 and 852 respectively.

Taxable capital gain for assessment year 2013-14 is as under
(A) T 1,86,400

(B) 5,59,200

(C) T 6,00,000

(D) None of the above

(7) iy 2w 2uas- s dsn Al 59 2uasl wuda udl 4o 2

(A) n{l1o0Fxil 2 (B) dl2? (Lottery)

(C) [¥[as~s (D) gL ¢¥5S

From the following, which income is not included in the head of ‘Income from
other sources’ ?

(A) Intereston securities (B) Lottery
(C) Dividend (D) Crossword puzzles.

@) Mldi -l viladd yie A odd vidl WAyl 9y alis %
5335 19 ©.

The maximum annual interest received on Post Office Savings account opened own
name will be tax free upto
(A) T7,000 (B) 10,500

(C) 3,500 (D) 2,500
13

7C-121 P.T.O.
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(9) 544 80 DD d50 80% #l el ydL 2UBiddl dolledl uRw »idl SUCTRCU]
541 olle qul.

Under section 80 DD, less than 80% severe disability dependent person treatment

can get deduction.
(A) T 1,00,000 (B) 80,000
(C) 60,000 (D) 50,000

(10) 2usRell a¥ 2013-14 i sl A ) sa Ay >was T 2,60,000 &cdl. @ g3
dael $sddyn b NBEHAL T 10,000 Yool sdl duel -y ubls
20,000 4 et »dd . 20500 a¥ 2013-14 W2 dxdl s2ws 3as

u9l.
(A) < 2,40,000 (B) ¥2,20,000
(C) T2,30,000 (D) Gu-unidl 519 Al

The total gross income of Shri A was ¥ 2,60,000 for the assessment year 2013-14.
He has paid ¥ 10,000 for Mediclaim Insurance Préemium during the year. He has
given donation of ¥ 20,000 for approved religions institution. His taxable income
for the assessment year 2013-14 will be :

(A) T 2,40,000 (B) %2,20,000
(C) 230,000 (D) None of the above
(11) A% Rs AL we AdsdS dbu B 200 ayHl 4y l

sUld OILe 3Nl

The maximum deduction available to senior citizen assessee for Mediclaim

Insurance Premium will be
(A) T 5,000 (B) 10,000
(C) 15,000 (I:))‘ < 20,000

(12) 3 yealld 4L (VAT) slueL 3o Gals s oal Mie duiRly 2 R

gld Ao,
(A) 210 @l g B) T 40 @]l vl
©) 750 cviell 2l (D) TS50 el ay

The turnover of the trader for lumpsum payment of tax under Gujarat Valued
Added Tax (VAT) shouldbe __—

(A) Less than ¥ 10 lakhs
(C) Less than ¥ 50 lakhs

(B) Less than ¥ 40 lakhs

(D) More than ¥ 50 lakhs
14
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(13) Al 2&t stuel wwel ga sus Al s2sd wulel

According to service tax act, the tax free limit of total taxabl ces i
(A) T2,00,000 (B) 2,50,000

(C) 5,00,000 (D) T 10,

&R 0.
ear 2013-14is

(14) dusiell @y 2013-14 2 AN 2 swel
The effective rate of service tax act
(A) 12%
(C) 10.30%



